Chapter1 
ICT
grade 8


Instructions:
· Complete the notes for chapter 1 and learn them.

· Answer the assignment given below the notes  in your notebook and submit it on 11th October 2009.

1) What was the need for the calculating machine? Explain how counting is done by abacus?
A number of machines have been developed over the years to do the tasks in an easier way in the areas like telecommunication, transportation etc. thus machines were invented for counting and calculating also.

The earliest calculating device invented by Chinese is ABACUS. It is a simple frame with strings having beads. The counting is done by moving the beads across the strings.

2) Write a short note on Soroban.

Japanese improved Abacus and called it Soroban. It has two parts called Heaven (top frame with one bead) and Earth (bottom frame with 4 beads). The movement of one bead down from the Heaven is equivalent to a count of five and the movement of each bead up from the Earth is for a count of one.

3) Give a brief account of the development of calculating devices and describe how two n numbers can be multiplied using Napier’s bones.

The oldest calculating device named Abacus was invented by Chinese by around 500 BC. Abacus was modified by Japanese and called it Soroban.

John Napier the father of algorithm invented Napier’s bone which was used for multiplication and division of large numbers.

Napier’s bone

John Napier invented a set of tables on a set of ivory rods called Napier’s bones. A Napier’s bone has two rows; each row is called a multiplier. The numbers in the top row is called the ‘logarithm’ which was used to find the product of two numbers.
To multiply two numbers:

a) Take the figure on the top row corresponding to each number we want to multiply.

b) Then add those two numbers on the top 

c) Take the number on the bottom row corresponding to the result obtained by addition on the top row which is the product.

For Example:

To multiply 8 and 64:

a) take 3 and 6 which are the numbers above 8 and 64

b) add 3 and 6   i.e. 3+6=9

c) take the number on the bottom row for the addition result 9,  i.e. 512, which is the product of 8 and 64

4) Who is regarded as the father of computers and why?

Charles Babbage is regarded as the father of modern digital computers. The reasons for calling him so are:

a) He invented the Analytical engine in 1842 which was a fully automatic machine which could accept inputs, do calculations faster store the data and instructions and print it. These gave basis for the modern digital computers.

b) He was the first to give the idea of stored program computers.

5) Which were the first computer utilizing electrical switches? What were the drawbacks?

Mark1 was the first computer utilizing electrical switches Developed by Howard Aiken in 1937-1944.
Mark1 machine was very heavy and bulky which were the drawbacks of it.

6) Which was the first electronic digital computer? Where was it developed? 

The first electronic digital computer is ENIAC (Electrical Numerical Integrator and Calculator) which was constructed at the University of Pennsylvania to satisfy the military needs.

7) What were the developments in electronics that lead to generations of computers? Link up the developments with the generations.

	Electronic component      
	Generation     
	Year                      
	Features                                   

	Vacuum tubes                   
	First                
	1943-1958             
	eg. ENIAC, EDVAC

bulky, difficult to detect errors, Slow in processing

	Transistors
	Second
	1959-1963
	Smaller in size,

Cheap and better performance

	Integrated chips
	Third
	1964-1973
	Reduced the cost and size of computers

	Microprocessors

( V L S I )
	Fourth
	Since 1973
	Highly accurate, smaller in size, cheaper price, very fast in processing


8) What are transistors? What were their functions in second generation computers?
a) Transistors are semiconductors made up of Germanium and Silicon

b) They were smaller in size than the vacuum tubes used in the first generation computers.

c) They are main electronic component used in the second generation computers.

d) Transistors controlled all the parts of the computers and did all the processing faster than vacuum tubes.

9) What are the advantages of analog computers and where were they used?

a) Analog computers accept the input information not in the digitized form but as proportionate voltage

b) Thus they are used in special areas of applications like chemical processing plants, simulate the conditions that a pilot would encounter while flying an aircraft or train

c) Analog computers were faster in processing than digital computers till 1963 after which digital computers also gained the qualities of analog computers.
Fill in the blanks:
Do the exercise. More fill ups are given below:

1. Howard Aiken invented the Mark1 computer.

2. John Von Neumann developed the concept of ‘stored program computer’.
3. Electrical relays were used in Mark1 computer.

4. The electronic component used in first generation computers are vacuum tubes.
5. the computers which are currently used belongs to fourth generation.
6. the chip where the entire CPU is etched is called microprocessor.
7. Analog computers are used in chemical processing plants.

8. The input data in analog computers are physical quantities in the form of proportionate voltages.

9. Digital computers are used in educational institutions, banks, business organizations etc.

10. Analog computers are special purpose computers.
11. Semiconductors are made up of germanium and silicon invented by William Shockley.

12. A number of interconnected transistors packed on thin wafers or chips are called integrated circuits (IC).
13. VLSI stands for Very Large Scale Integration.

14. Thousands of interconnected transistors packed on a single chip are called Very Large Scale Integrators (VLSI chips).
Match the following:
	1. Transistors
	a. Abacus
	(3)

	2. Analog computers
	b. Semiconductors
	(8)

	3. counting device
	c. Charles Baggage
	(5)

	4. Logarithms
	d. First gen. Computers
	(11)

	5. Father of computer
	e. 1943
	(13)

	6. Howard Aiken
	f. Analytical Engine
	(15)

	7. Punched cards
	g. Second gen. computers
	(1)

	8. William Shockley
	h. John Napier
	(4)

	9. John Napier
	i. John Von Neumann
	(14)

	10. Microprocessors
	j. Third gen. computers
	(12)

	11. Vacuum tubes
	k. Mark1 computer
	(6)

	12. Integrated circuits
	l. Simulating difficult tasks
	(2)

	13. ENIAC
	m. Napier’s Bones
	(9)

	14. EDVAC
	n. Fourth gen. computer
	(10)

	15. Charles Babbage
	o. Herman Hollerith
	(7)


Assignment:
Chapter 1:

1) Name some operating systems. Write down their advantages. 

2) Multiply 2 and 32 using Napir’s bone and write down the steps

3) Multiply 16 and 16 using Napir’s bone and write down the steps 
4) What are the advantages of the present generation of computers?
5) List of at least four electronic parts of a computer system and explain their function

6) Name each part and write down the advantages of them (from the given picture)
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